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06150176.006 |11:53:11.122 |AppInfo |Digit analysis: match(pi="2", fgcn="1007",

cn="1007",plv="5", pss="", TodFilteredPss="", dd="1999",dac="0")
06150176.007 |11:53:11.122 |AppInfo |Digit analysis: analysis results
06150176.008 |11:53:11.122 |AppInfo ||PretransformCallingPartyNumber=1007
|callingPartyNumber=1007

|DialingPartition=

|DialingPattern=1999
|FullyQualifiedCalledPartyNumber=1999
|DialingPatternRegularExpression=(1999)
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06150194.001 |11:53:11.123 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '', 2
o, o, 0, 0, 0, 0, 0, O, O, 0, 0)1

CUCMEF B CLI L I SQLE M EZEFH{E (tklampblinkrate_messagewaiting)

admin: run sgl select n.dnorpattern, d.tklampblinkrate_messagewaiting from numplan as
n,numplandynamic as d where n.dnorpattern = '1007' and n.pkid = d.fknumplan
dnorpattern tklampblinkrate_messagewaiting
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06150336.006 |11:53:16.427 |AppInfo |Digit analysis: match(pi="2", fgcn="1007",

cn="1007",plv="5", pss="", TodFilteredPss="", dd="1998",dac="0")
06150336.007 |11:53:16.427 |AppInfo |Digit analysis: analysis results
06150336.008 |11:53:16.427 |AppInfo ||PretransformCallingPartyNumber=1007
|callingPartyNumber=1007

|DialingPartition=

DialingPattern=
iali 1998
|FullyQualifiedCalledPartyNumber=1998
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06150355.001 |11:53:16.428 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '',
o, o, 0, 0, 0, 0, O, O, 0, 0, 0)]

CUCMEFECLI LM SQLE AR EZFH{E (tklampblinkrate_messagewaiting)

admin: run sgl select n.dnorpattern, d.tklampblinkrate_messagewaiting from numplan as
n,numplandynamic as d where n.dnorpattern = '1007' and n.pkid = d.fknumplan
dnorpattern tklampblinkrate_messagewailting
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CREATE FUNCTION dblSetMWIEx ( DN LIKE NumPlan.DnOrPattern,
partition LIKE RoutePartition.pkid,
lamp LIKE NumPlanDynamic.tkLampBlinkRate_MessageWaiting,

"1007" will be the input to the DN field ,"2" or "1" will be acting as a lamp input to the
function "dblSetMWIEx"

HAEERREIN 2 EIFEEANULL , BISR R IFFE4 I B 5 HESQLE B pkidE R
NumPlanDynamicZ&IZ2EXEI 5| &+ : NPDpkid7E EEnumplan&R#{TAZDEF 2 %



IF (partition = '') THEN

SELECT NumPlanDynamic.pkid into NPDpkid from NumPlanDynamic INNER JOIN NumPlan ON
NumPlanDynamic. fknumplan = NumPlan.pkid

WHERE (NumPlan.dnOrPattern = '1007' AND NumPlan.fkRoutePartition IS NULL) ;

CUCMESRCLIFHISQLEME R

admin:run sgl select NumPlanDynamic.pkid from NumPlanDynamic INNER JOIN NumPlan ON
NumPlanDynamic.fknumplan = NumPlan.pkid WHERE (NumPlan.dnOrPattern ='1007' AND
NumPlan. fkRoutePartition IS NULL)

pkid

6b221dbe-4c53-4184-9cb9-dBade3a7£500
It pkid (B A 80E 2 8 =\ AP E JRAYNPDpkid{E.
BN dbISetMWIEXHHITHIEHEN , AREMSQLBEF ERNERMULE !

Update NumPlanDynamic set NumPlanDynamic.tkLampBlinkRate_MessageWaiting = lamp WHERE pkid =
NPDpkid;
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19684211.001 |19:45:22.377 |AppInfo |StationInit: (0030551) StationMwiNotificationMessage
mwiTarget=1007 mwiCtrl=1999 msgsWaiting=1 totalVm(-1/-1) privVm(-1/-1) totalFax(-1/-1) priFax(-
1/-1)

19684212.000 |19:45:22.377 |sdlsig | StationMwiNotification
| restart0 |StationD(1,100,58,30551)
|StationInit(1l,100,57,1) |1,100,13,30598.8"10.106.90.141"CiscoUM2-VI2 | [R:N-

H:0,N:0,L:0,V:0,Z:0,D:0] mwiTargetDn=1007 mwiControlDn=1999

msgsWaiting=1

19684213.000 |l9:45:22.377 |SdlSig |SsInfoReq

|wait |Ccc(1,100,213,1)

|StationD(1,100,58,30551) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684214.000 |l9:45:22.377 |SdlSig |SsInfoReq

|wait | MessageWaitingManager (1,100,126,1)

|Cc(1,100,213,1) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-



H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684214.001 |19:45:22.377 |AppInfo |MessageWaitingManager::ssInforeq mwiOnOf£fDn=1999
passedCSS= mwiDnCss=

19684214.002 |19:45:22.377 |Created |

| | MessageWaiting(1l,100,127,106960741)

| MessageWaitingManager (1,100,126,1) |

|NumOfCurrentInstances: 6489

19684214.003 |19:45:22.377 |AppInfo |MessageWaitingManager - hashChildProcess - entries in the
messageWaiting table = 0x1959

19684215.000 |19:45:22.377 |sdlsSig | SsInfoReq

|wait | MessageWaiting(1l,100,127,106960741)

| MessageWaitingManager (1,100,126,1) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=22308893 DevId=(1l,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684215.001 |19:45:22.378 |AppInfo |MessageWaiting::sendDaReq dialingPattern=1007
dialingPartition= voiceMailbox=1007 orig digitString=1007, cmDeviceType 0

19684215.002 |19:45:22.378 |Stopping |

| | MessageWaiting(1l,100,127,106960741)
|MessageWaiting(1l,100,127,106960741) |

|NumOfCurrentInstances: 6489

19684216.000 |19:45:22.378 |sdlsig | DbvoiceMailUpdtReq

|initialized |Db(1,100,202,1)

| MessageWaiting(1,100,127,106960741) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 |[T:N-
H:0,N:0,L:0,V:0,Z:0,D:0] 02000000 00000000 00000000 00000000 00000000 00000000 00000000 00000000
00000000 00000000 00000000 00000000 4862b9%a5 00000000

HITEMSQLBREUSE R ER A2

19684216.001 |19:45:22.378 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '', 2, O,
o, 0, o, 0, 0, 0, 0, O, 0, O, 0)]
19684216.002 |19:45:22.380 |AppInfo |DB: SQL2[execute procedure dblSetMWIEx('1007', '', 2, O,

o, 6, o, 0, 0, 0, O, O, O, 0, 0)]

19684217.000 |l9:45:22.384 |SdlSig |SsInfoRes

|restart0 |StationD(1,100,58,30551)
|MessageWaiting(l,100,127,106960741) |l,lOO,13,30598.8“10.106.90.141ACiSCOUM2—VI2 |[R:N—
H:0,N:1,L:0,V:0,Z:0,D:0] SsType=0 SsKey=106960741 SsNode=1 SsParty=0 DevId=(0,0,0) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 SsSignal=0 SsCause=16
19684217.001 |19:45:22.384 |AppInfo |StationD: (0030551) TX StationMwiResponse:
mwiTarget=1007 result=0.

19684218.000 |19:45:22.384 |sdlsig | MessageWaitingComplete

|wait | MessageWaitingManager (1,100,126,1)
|MessageWaiting(l,100,127,106960741) |l,lOO,13,30598.8“10.106.90.141ACiSCOUM2—VI2 |[R:N—
H:0,N:0,L:0,V:0,Z2:0,D:0]

19684218.001 |19:45:22.385 |AppInfo |MessageWaitingManager - deleteEntryFromMwiTable - entries
in the messageWaiting table = 0x1958

2. MWIRRRE R

R B UnityIMWIEBEE S , mwiwaitingiZ55 iR E A0



19775953.001 |19:45:42.812 |AppInfo |StationInit: (0030549) StationMwiNotificationMessage
mwiTarget=1007 mwiCtrl=1998 msgsWaiting=0 totalVm(-1/-1) privm(-1/-1) totalFax(-1/-1) priFax
1/-1)

19775954.000 |19:45:42.812 |sdlsSig | StationMwiNotification
| restart0 |StationD(1,100,58,30549)
|StationInit(1l,100,57,1) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-

H:0,N:0,L:0,V:0,Z:0,D:0] mwiTargetDn=1007 mwiControlDn=1998 msgsWaiting=0
19775955.000 |19:45:42.812 |sdlSig | SsInfoReq

|wait |Cc(1,100,213,1)

|StationD(1,100,58,30549) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775956.000 |19:45:42.812 |sdlSig | SsInfoReq

|wait | MessageWaitingManager (1,100,126,1)

|Cc(1,100,213,1) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775956.001 |19:45:42.812 |AppInfo |MessageWaitingManager::ssInforeq mwiOnOf£fDn=1998
passedCSS= mwiDnCss=

19775956.002 |19:45:42.812 |Created |

| | MessageWaiting(1l,100,127,106964522)

| MessageWaitingManager (1,100,126,1) |

|NumOfCurrentInstances: 6266

19775956.003 |19:45:42.812 |AppInfo |MessageWaitingManager - hashChildProcess - entries in
messageWaiting table = 0x187A

19775957.000 |19:45:42.812 |sdlSig | SsInfoReq

|wait | MessageWaiting(1l,100,127,106964522)

| MessageWaitingManager (1,100,126,1) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=22312676 DevId=(1l,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775957.001 |19:45:42.812 |AppInfo |MessageWaiting::sendDaReq dialingPattern=1007
dialingPartition= voiceMailbox=1007 orig digitString=1007, cmDeviceType 0

19775957.002 |19:45:42.812 |Stopping |

| | MessageWaiting(1l,100,127,106964522)
|MessageWaiting(1l,100,127,106964522) |

|NumOfCurrentInstances: 6266

19775958.000 |19:45:42.812 |sdlSig | DbvoiceMailUpdtReq

|initialized |Db(1,100,202,1)

|MessageWaiting(1,100,127,106964522) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [T:N-
H:0,N:0,L:0,V:0,Z:0,D:0] 01000000 00000000 00000000 00000000 00000000 00000000 00000000 0O0O0O
00000000 00000000 0Oaff8ac 00000000 48c057a9 00000000
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19775958.001 |19:45:42.812 |AppInfo |DB: SQLl[execute procedure dblSetMwIEx('1007', '', 1,
o, 0, o, 0, 0, 0, 0, O, 0, O, 0)]
19775958.002 |19:45:42.820 |AppInfo |DB: SQL2[execute procedure dblSetMwIEx('1007', '', 1,

6, 6, o, 0, 0, 0, O, O, O, O, 0)]

19775959.000 |19:45:42.823 |sdlsSig | SsInfoRes
|restart0 |StationD(1,100,58,30549)
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|MessageWaiting(l,100,127,106964522) |l,lOO,13,30597.10A10.106.90.l4lACiSCOUM2—VI3 |[R:N—
H:0,N:1,L:0,V:0,Z:0,D:0] SsType=0 SsKey=106964522 SsNode=1 SsParty=0 DevId=(0,0,0) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 SsSignal=0 SsCause=16
19775959.001 |19:45:42.823 |AppInfo |StationD: (0030549) TX StationMwiResponse:
mwiTarget=1007 result=0.

19775960.000 |19:45:42.823 |sdlSig | MessageWaitingComplete

|wait | MessageWaitingManager (1,100,126,1)
|MessageWaiting(l,100,127,106964522) |l,lOO,13,30597.10A10.106.90.l4lACiSCOUM2—VI3 |[R:N—

H:0,N:0,L:0,V:0,%2:0,D:0]
19775960.001 |19:45:42.824 |AppInfo |MessageWaitingManager - deleteEntryFromMwiTable - entries

in the messageWaiting table = 0x1879
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